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Q1. 

Subquestion Answer Mark 
Subquestion 1 A K[w] ← 0  

B W[t]  
C V[t]  

Subquestion 2 D WMax/W[t]  
E W[t] x q  

Subquestion 3 F QT[w – W[t], t]  
G QT[w – W[t], t1]  

 
 
Q2. 

Subquestion Answer Mark 
Subquestion 1 A d  

B f  
Subquestion 2 C 24  
Subquestion 3 (1) 52  

(2) f  
(3) d  

 
 
Q3. 
Subquestion Answer Mark 

Subquestion 1 A b  
 B a  
Subquestion 2 (1) To prevent the concentration of network 

traffic at a specific access point 
 

 (2) To prevent devices other than those 
authorized from connecting to the network 

 

Subquestion 3 C C  
 D A  
Subquestion 4 a, d  
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 Q4. 
Subquestion Answer Mark 

Subquestion 1 
A Furniture_Type_No 

Furniture_Type_Name 

B Furniture_No 
Furniture_Type_No 

C → 

Subquestion 2 D SUM 

E BETWEEN 

F GROUP BY 

Subquestion 3 I TN.Unit_Price 

J HM.Quantity * TN.Unit_Price 

K 
HA.Sale_No = :Sale_No 

-or-  
HM.Sale_No = :Sale_No

L MAX( TN2.Effective_Date ) 

M 

KG.Furniture_No  
-or-  

HM.Furniture_No 
-or-  

TN.Furniture_No

N HA.Sale_Date 

Subquestion 4 G Unit_Price 

H Sale_Detail 

 

Q5. 
Subquestion Answer Mark 

Subquestion 1 A (7)  
B (3)  
C (1)  
D (8)  

Subquestion 2 Sensor data read function  
Subquestion 3 E c  

F a  
Subquestion 4 Incorrect data  
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Q6.  
Subquestion Answer Mark 

Subquestion 1 A g  
B e  
C l  
D f  

Subquestion 2 E b  
F a  
G c  

Subquestion 3 b, e  
Subquestion 4 Because the public key certificate cannot be 

obtained and verified outside the company 
 

 
 

Q7. 
Subquestion Answer Mark 

Subquestion 1 b  
Subquestion 2 A d  

 B c  
 C i  
 D j  

Subquestion 3 d  
Subquestion 4 a  
Subquestion 5 b  

 


